R#t7TA N EH SRAN EfE 01

1 0BLEROBNOMET, ko[ |250k (S#H25H, ARBH, BRI, CH2H)

1 9=[ | (mod2) (20 2= | (mod3)

(3) 45= (mod5) (4) 116= (mod6)
(5)  200= (mod9) (6) 1000 = (mod3)
(7) 555 = (mod15) (8) —-9= (mod4)
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2. OMEROBNOBET, WO |#50k (S, AR, BR1H0H, CH2H)

(1) 8= (mod2) (2 31=] | (mod3)
(3) 50= (mod4) (4)  106= (mod8)
(5) 300= (mod9) (6)  1000= (mod6)
(1) 666 = (mod18) (8) —13= (mod5)
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RETALS BH SR R 01 #EEMHEHR
1 0BLEROBNOMET, ko[ |250k (S#H25H, ARBH, BRI, CH2H)

KA HEA
a=b (modn) ¢ a%ZnTH-ZLEDRY =bZnTH-ZLEDORD

(1) 9=[1] (mod2) (2)  26=[2] (mod3)

9+2=4-1 26=3x8+2

FTINTVWODED, RO TTES LI

9=2x4+1
(3)  45=[0] (mod5) (4)  116=[2] (mod6)
45=5%x9+0 116 = 6 x 19 + 2
(5)  200=[2] (mod9) (6)  1000=[1] (mod3)

200 =9 x22+2 1000 =3 x 333 +1

(7)  555=[0] (mod15) (8)  -9=[3] (mod4)

555 =15 x 37+ 0 —9=4x(-3)+3

W 555 M3 TH 5 THHEIDYINS.
& 555=0 (mod,15)

Y —9+4=-2--1
ELUTREZINTER.

4 TESLEDORYIZO0,1,2,3 DT,
LoT, Bk -3/ b.
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2. OMEROBNOBET, WO |#50k (S, AR, BR1H0H, CH2H)

(1) 8=[0] (mod2) (2)  31=[1] (mod3)
8+2=4--0 31=3x10+1

KINTVWWDED, RO TTES LD

8=2x4+40
(3)  50=[2] (mod4) (4)  106=[2] (mod8)
50 =4 x 1242 106 = 8 x 13 + 2
(5)  300=[3] (mod9) (6)  1000=[4] (mod6)
300=9x33+3 1000 = 6 x 166 + 4
(7)  666=[0] (mod18) (8)  -13=[2] (mod5)
666 = 18 x 37+ 0 —13=5x(-3)+2

¥ 666 = 3 - 222
222036 TEIDEINZH 5,
& 666=0 (mod,18)
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